Section 3.1

K Fntodnckon 4o 2% Order Linear Eguations

l/\/MVh u_/E: What is . Selwhon +o
gl—f‘t3=o7_ whute v s a Const
¢+ ovden PNV O yew 1t
v’;r — ng,N.M«,
Aﬁ >§fa‘7¢
Y
- (v +¢C
Q)(Ama P
Y
\a.(x)= Re

T. 2nd Ovdewv Lituor T
Det: A bak Ordua Livsan ODE Comn
J/; + ﬁn’vr\-‘
(+¢) Al Y + 86y
D,M%\L@DE’ s caihed L\,mM\OﬂMS _z_,i\ﬂarcﬂe‘
— Jiatavy
s ca il

/W\—Wﬁ%ims

Mol : uhﬁfw% 2 dfidition s of honwgentews
s o — 48+ ovduv
<V" 4~ F(%) — onliany

+ Cle Y = = GO

—f F0=
O, f FOAF0, T

Bu’r, WS C/aw-lfv;d-— chunes o Aternn na Vs NI
ép(;aoul cale -
L M =0 Uk e —
fresvn ()=l %wwsm{'s Fle>=©
C) =¢
—n:iJ/V\'.
e Vamdt (D) AnaS (,07\,5‘-[-—«4/\)(’ (A)—LF'HOIWH




Yy = ¢ * — ¢ Comstend
U WM
T y_" -l—’L\OI /W = O M::’l
Y X
fnstatz Y= e
m Tnto Fine ODG A T
y'= e yl=re

<
nev-wv
Z0rD =0

Fnd e veEts a»p oo By
(rx¥)(x-2) = 0

Lootc ! e A
aotrons otk Sar TTOT A
e r=-F, we P e 5oL

(b/!, () — c,*%

S eluts . ome:

Unpde -M/\iaukl gk , ~Yx v

KJ,$Q /1(__,,4-[—@ \dl

%,("l.\:{

=



(é’?‘ () = ¢ >
sl +o
77\2 M’( f -h: d}_ﬂ"* o) So’w‘[""“’if
/(/VV"UV\' Cenw b\

is






e :

o

-

2

Clawted wl ODS  — sotobon 4, b ya

-

go in Hmx ﬂ\‘(é(/ﬁ\a\ﬂ

e -
\é[(-»)-: c, e T ¢ @

0. whwt 008 does I Solve -
woks of Chankerst e
Qe o AR Lr-q_)(\rk\B = O
R e

r>—-r-2 =°

\f:’/——?, r=-|

Uy . eagn - _
(l)YlJr(/\7r *’(’?l‘\'
Vi ]

a b C

P/(/V\O v ('7\>
0\/‘0“ 'Hatﬂ’ %er’o

“AC an oOov Uyl - 0
/LV it | 4 T 21 7
so st NoT hrecess anrlg win gt
g by 2 ’
SU” _/9% _ G‘j = O
s fne San < sluton .




W,/“@ .ww&w soluctions

A 3' Wrw"t Am %V:::Dx _ f—,;u._
L lJ(lu) ¢ ?" <
. sk s
Lll' use PﬁV\W}”‘"’ Bf SU\PW’OO ( LN C Q(a%
guad sobn i ylx) = Qe R
- ‘S C o\
@," What— (F 1 owachen ( o)t

5
VRS o VW"L‘L—J m'l/‘

g: 9'/ J/’l\j| —\tg = 0O

g
(?’>~l
2. wWe hawt ak least L s olntro
lé,(‘x)-:— e
’L\/\ll < e,,j1\9\/\ < V‘_ﬁf I‘M
Joute ,
iW,W\M

Yyle) = Ge
. -
[W WMD*\S g —% O\ |



%LO)/’ = (-C|€_k"cle’% \1o0
[ — C) -Pca

%/(D)'i - (\,C[f/\c 'C-\,év \\](u.:o

= —=C, - <=
wank o solve
| T}C\"’ C“j_
2= -cy — (=
C, = | — C~

N A s e R c
el e

Comngt Hond C andl - +» Colve

Hw FVr.
Trcleads LAS Dy s |
Yol 7 Ye o bty by %
Exurvise Unecde H et > solves Hw QRE
L -

Gl Sebn ?_(;»\ - ce v Gre
= |y =
in it (;,a-v»@ov %—(0\ =1, Y (0)="2
P - v

‘9 (-y’) - 'C'a + C'),e — C et

g/() = (7 () g - cave

yiore 1 = (e e Yo

[ = () + 0 — Cl""



)

—% 1 T
Onode At o0 = X gowes 4" +2y'+4y=0
g';. = (De,~jc Fxl-€7) = (1-w)e ™
gi/ = (-DJM + C\«k)( ¢ )
= [~|~;+u‘)e = (- )+7<,‘§e
ply o obEt
% o
Kl*vﬂe j +2a(G-»)e ] + (ne j——
]
= O
e/‘”(—,zwz 4,1“,%,) + )Lv] -
— O
o " (./1/+;¢/+)/—)z/+)/'3 = :
®) —

— %
So yes, Yalz) = ke
Selres e OO -

g Linear MW@(&;
\b&(' Tawo fumnchen s v(lw\ M\gq,ho) are l‘_’({:)
indepondant iF, o ke ke CONS s
Ky () +ka go(x) =0
apics trat =k =0
Conversdy, ylw\ M %\xS e iy

D . ~C < LZ:LO




Conversihy,  Yolwed ok ylw)  ale

g

=+ 0

depedent T T GEES
ok K F 0 Sudh Hhax- _
Kiyutz) + k7 Y2 - 0
Yo
Br: Aty chepuotet 4 :
(x) Y o0=% Yo (1) = P
kg e Y T © >
ki -+ \4;(3’)’7 = O
(L,*?an)"' =0
<e ll—:_'—’l) l&\-;—z %1 IO-O&IC M—L %'
Shetelae
—3x + (N2x = o
P4
(1) Y50 = i Yy = 3e
A R’
bLe - ky (X&) =0 __— e
e (v ~ 2=
ky=2  lkz=-l -
qy k g My Aeolee Lo Yn
—e + 2 (£ ) = Sprsiae
o ——*M Aepundint ¢ UYs
() Ys =1 +n S =2-"2e \/
b (14e) + k, (—a-2x) = 0 7 X
yl’ _ _,ays_ //\/ Nb
> Miinenty dypenslorn
3









